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Example

1. In one minute a total charge of 108 C flows

through a bulb when it is connected to a cell.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_6DzDmjx3wKV9


Find the electric current flowing through the

bulb.

Watch Video Solution

2. In an electric bulb a current of 5A flows for 1

hour. Find the amount of charge that has

passed through the bulb.

Watch Video Solution

https://dl.doubtnut.com/l/_6DzDmjx3wKV9
https://dl.doubtnut.com/l/_X75P4iJxyZrH


3. An electric current of 2A flows through a

circuit consisting of a bulb. Find the number

of electrons that would pass through the bulb

in 8 minutes.

Watch Video Solution

4. A bulb uses 3000 J of energy in 50 s.

Calculate its power.

Watch Video Solution

https://dl.doubtnut.com/l/_Q2b7MWgJqv2z
https://dl.doubtnut.com/l/_3xBF1MZhbrzZ
https://dl.doubtnut.com/l/_boDLiQKbkWO1


5. A 60 W bulb is switched on for 5 hours daily.

If the cost of electricity is Rs. 3 per unit,

calculate the bill for the month of April.

Watch Video Solution

6. In one minute a total charge of 180C flows

through a bulb when it is connected to a cell.

Find the electric current flowing through the

bulb.

Watch Video Solution

https://dl.doubtnut.com/l/_boDLiQKbkWO1
https://dl.doubtnut.com/l/_5oUqhcmDYVSW


7. In an electric bulb a current of 5A flows for 1

hour. Find the amount of charge that has

passed through the bulb.

Watch Video Solution

8. An electric current of 2A flows through a

circuit consisting of a bulb. Find the number

of electrons that would pass through the bulb

in 8 minutes.

Watch Video Solution

https://dl.doubtnut.com/l/_gEMD5BYJwOoe
https://dl.doubtnut.com/l/_MoZPbR9n7tOZ


9. A bulb uses 3000 J of energy in 50 s.

Calculate its power.

Watch Video Solution

10. A 60 W bulb is switched on for 5 hours

daily. If the cost of electricity is Rs. 3 per unit,

calculate the bill for the month of April.

Watch Video Solution

https://dl.doubtnut.com/l/_MoZPbR9n7tOZ
https://dl.doubtnut.com/l/_yv54B7FOvVy0
https://dl.doubtnut.com/l/_wrXzuR8mybuE


Very Short Answer Type Questions

1. What is the charge of an electron ? How

many electrons make a coulomb of charge ?

Watch Video Solution

2. Define conventional and electronic current.

Watch Video Solution

https://dl.doubtnut.com/l/_kwuMiwTfOQvC
https://dl.doubtnut.com/l/_pLtG9IGrQoYp


3. What is the function of powdered carbon

present in the electrolyte of a dry cell ?

Watch Video Solution

4. Why a small quantity of sulphuric acid is

added to water for its electrolysis ?

Watch Video Solution

https://dl.doubtnut.com/l/_mkJcxNpFNWlR
https://dl.doubtnut.com/l/_6pTr8uwK1TGi


5. What is an electric fuse? How does it

function?

Watch Video Solution

6. What are the circuit symbols for a plug key

and a tap key ?

Watch Video Solution

https://dl.doubtnut.com/l/_aKJeBapmtYYg
https://dl.doubtnut.com/l/_MfJ8AcPi7Ov6


7. What is the use of magnesium oxide used in

an immersion heater ?

Watch Video Solution

8. The process due to which an uncharged

insulated metallic conductor gets electrically

charged when held near a charged body is

called ______.

Watch Video Solution

https://dl.doubtnut.com/l/_2uyVjIA1d4K0
https://dl.doubtnut.com/l/_AHZ4BNRw8H70
https://dl.doubtnut.com/l/_n6R6WlB1VZaT


9. What is an electric cell ? What is a primary

and a secondary cell ?

Watch Video Solution

10. What is electroplating ?

Watch Video Solution

11. A body gains  electrons, by

rubbing, it with another body. Find the charge

25 × 1018

https://dl.doubtnut.com/l/_n6R6WlB1VZaT
https://dl.doubtnut.com/l/_41NU5BeX0GLn
https://dl.doubtnut.com/l/_aRKSz3KalzkB


on the body.

Watch Video Solution

12. What is electroplating ?

Watch Video Solution

13. In a dry cell, the cylindrical container made

of zinc acts as a ________ terminal of the cell.

Watch Video Solution

https://dl.doubtnut.com/l/_aRKSz3KalzkB
https://dl.doubtnut.com/l/_j0RsR7cDcD78
https://dl.doubtnut.com/l/_v2sMdE7qkEF1


14. What is meant by charging a secondary cell

?

Watch Video Solution

15. How many types of the charges are there ?

State the unit of charge ?

Watch Video Solution

https://dl.doubtnut.com/l/_fMvEPFZucmVR
https://dl.doubtnut.com/l/_zVQFpLR8yQwn


16. A body contains 3 C of positive charge.

Does this refer to the total number of protons

or positively charged particles present in the

body ?

Watch Video Solution

17. COMMERCIAL UNIT OF ENERGY

Watch Video Solution

https://dl.doubtnut.com/l/_F9RHHDNIzsCj
https://dl.doubtnut.com/l/_xQJ07aUxQI8D


18. State SI and practical units of electrical

energy .

Watch Video Solution

19. What is meant by charging a body ?

Watch Video Solution

20. If two charged bodies attract each other,

what could the nature of charges present on

https://dl.doubtnut.com/l/_Ozw0mPhTBnip
https://dl.doubtnut.com/l/_Hbc6mAdC9xbp
https://dl.doubtnut.com/l/_oXQoC54Jq1cc


them be?

Watch Video Solution

21. What is electrical resistance ?

Watch Video Solution

22. What is an electrolyte?

Watch Video Solution

https://dl.doubtnut.com/l/_oXQoC54Jq1cc
https://dl.doubtnut.com/l/_xWYTPr3lXbkh
https://dl.doubtnut.com/l/_1ZX4dwyX7ZFE
https://dl.doubtnut.com/l/_xwMl6PXDEkKI


23. What is an electroscope?

Watch Video Solution

24. Electric potential is a …………….. Quantity and

its units are …………… .

Watch Video Solution

25. What is electrolysis ?

Watch Video Solution

https://dl.doubtnut.com/l/_xwMl6PXDEkKI
https://dl.doubtnut.com/l/_1MoC2tYnGqQj
https://dl.doubtnut.com/l/_ChggnNVlrsbr


26. What is an electrical conductor ? Give some

examples.

Watch Video Solution

27. HEATING EFFECT OF ELECTRIC CURRENT

Watch Video Solution

28. Define electric power and give its unit.

Watch Video Solution

https://dl.doubtnut.com/l/_TPTlAQMkbSea
https://dl.doubtnut.com/l/_G6a4EsH2A3Fn
https://dl.doubtnut.com/l/_38V2wiDt5REL


Short Answer Type Questions

29. Define electric current. What is the unit of

electric current? Define it?

Watch Video Solution

1. Show that 

Watch Video Solution

1kWh = 3.6MJ

https://dl.doubtnut.com/l/_38V2wiDt5REL
https://dl.doubtnut.com/l/_uN0KTyNarTiY
https://dl.doubtnut.com/l/_OlKjzC7lNBuf
https://dl.doubtnut.com/l/_GJIWLUFPzpHi


2. Explain the construction of an electric stove.

Watch Video Solution

3. What is a button cell ?

Watch Video Solution

4. What is meant by charging a body ?

Describe charging by conduction and charging

by induction.

https://dl.doubtnut.com/l/_GJIWLUFPzpHi
https://dl.doubtnut.com/l/_DtVXx6rQ4y2F
https://dl.doubtnut.com/l/_sehR2I0OfGuK


Watch Video Solution

5. Differentiate between primary and

secondary cells.

Watch Video Solution

6. What is an electric fuse? How does it

function?

Watch Video Solution

https://dl.doubtnut.com/l/_sehR2I0OfGuK
https://dl.doubtnut.com/l/_xEsDK1mVEpDs
https://dl.doubtnut.com/l/_Kl5a4oSa4VBj
https://dl.doubtnut.com/l/_eOhtywZv3CEK


7. When do we say that there is an electric

current in a conductor ?

Watch Video Solution

8. Explain electric circuit and draw a simple

electric circuit.

Watch Video Solution

9. A person takes out a woolen cap from his

head and observes the hair on his head rising

https://dl.doubtnut.com/l/_eOhtywZv3CEK
https://dl.doubtnut.com/l/_c36wge712LtJ
https://dl.doubtnut.com/l/_hpWk1Qo6uI35


up. Explain the reason for this?

Watch Video Solution

10. What is lightning ? Explain the

phenomenon.

Watch Video Solution

11. Explain the applications of electrolysis.

Watch Video Solution

https://dl.doubtnut.com/l/_hpWk1Qo6uI35
https://dl.doubtnut.com/l/_djM8pppw6yWc
https://dl.doubtnut.com/l/_nmOHUIe7z4PK


12. Why do we use a thin and long tungsten

wire as a filament in bulb ?

Watch Video Solution

13. Explain the working of lightning rod.

Watch Video Solution

14. ELECTRIC BULB

Watch Video Solution

https://dl.doubtnut.com/l/_eOJhQ82gsPxN
https://dl.doubtnut.com/l/_mqOLg4yS7Uw4
https://dl.doubtnut.com/l/_R0Qzn1s0NpXO


Essay Type Questions

1. Explain the construction and working of a

gold leaf electroscope.

Watch Video Solution

2. Explain the construction and working of a

dry cell.

Watch Video Solution

https://dl.doubtnut.com/l/_R0Qzn1s0NpXO
https://dl.doubtnut.com/l/_pwNiEYJuk5QM
https://dl.doubtnut.com/l/_0RMzu8dk7HEz


3. Explain atmospheric electricity. How did

Benjamin Franklin prove that lighting strikes

dues to atmospheric electricity?

Watch Video Solution

4. Explain the electrolysis of water

Watch Video Solution

https://dl.doubtnut.com/l/_0RMzu8dk7HEz
https://dl.doubtnut.com/l/_cyEOr2wEbsuJ
https://dl.doubtnut.com/l/_HbycsjMxpSm0


Concept Application Level 1

5. Describe the construction and working of a

Voltaic cell briefly.

Watch Video Solution

1. In a neutral body, the amount of positive

charge is equal to the amount of negative

charge.

Watch Video Solution

https://dl.doubtnut.com/l/_oc8YOOobicmH
https://dl.doubtnut.com/l/_q9XVe1S2K27q


2. Define conventional and electronic current.

Watch Video Solution

3. To protect buildings from lightning , a good

conductor of electricity like a copper rod, is

used.

Watch Video Solution

https://dl.doubtnut.com/l/_q9XVe1S2K27q
https://dl.doubtnut.com/l/_Ld9s3ueL8tae
https://dl.doubtnut.com/l/_vJJqRkSyYIZG


4. A body charged positively is considered to

be at a  potential and a body that is

charged negatively is considered to be at a

 potential.

Watch Video Solution

______

______

5. When a conductor is connected to a source

of current, the number of electrons entering

at one end of the conductor is equal to the

https://dl.doubtnut.com/l/_Pu1yDGsR019Z
https://dl.doubtnut.com/l/_tTYyKnei3qXZ


number of electrons leaving the conductor

from the other end, per second

Watch Video Solution

6. With the help of an electroscope, how can

we iden-tify the presence and nature of charge

on a body?

Watch Video Solution

https://dl.doubtnut.com/l/_tTYyKnei3qXZ
https://dl.doubtnut.com/l/_9tvSyTuWUyA9


7. When bulbs are connected in series, same

current flows through them.

Watch Video Solution

8. The types of cells in which it is possible to

restore the chemicals are called ___________ .

Watch Video Solution

https://dl.doubtnut.com/l/_mXjEXKWbHvNJ
https://dl.doubtnut.com/l/_yxxgCGyccylj


9. Why is nichrome used as a heating element

?

Watch Video Solution

10. Glass does not allow _______________ to flow

through it.

Watch Video Solution

https://dl.doubtnut.com/l/_5KyZkoA9gZ2X
https://dl.doubtnut.com/l/_8kPMhAGmLWHz


11. Within the cell, conventional current flows

from its negative to the positive terminal .

Watch Video Solution

12. An ebonite rod is rubbed with fur or wool.

What type of charges do they acquire ?

Watch Video Solution

13. A gold leaf electroscope is used for

https://dl.doubtnut.com/l/_tx6ZacrXUuIF
https://dl.doubtnut.com/l/_wzxiX3DLcXBX
https://dl.doubtnut.com/l/_DVz8YFX2GpC9


Watch Video Solution

14.  and  are two defects of

voltaic cell.

Watch Video Solution

_______ _______

https://dl.doubtnut.com/l/_DVz8YFX2GpC9
https://dl.doubtnut.com/l/_QQN4FMhGoKOd


15. Match the following 

Watch Video Solution

https://dl.doubtnut.com/l/_LlnMV8C7rn5E


16. Show that 

A. 36

B. 0.36

C. 3.6

D. 360

Answer: C

Watch Video Solution

1kWh = 3.6MJ

https://dl.doubtnut.com/l/_3cT58vjb7yi9


17. A gold leaf electroscope is used for

A. detect the presence of charge on a body

B. know the nature of charge on a charged

body

C. find the amount of charge present on a

charged body

D. Both (a) and (b)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_hIXOWVdVRhJG


18. Which of the following can be reused after

charging?

A. Dry cell

B. Leclanche cell

C. Voltaic cell

D. Lead acid cell

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_hIXOWVdVRhJG
https://dl.doubtnut.com/l/_q9yIX9lauzau


19. Volt is the unit of__________

A. emf

B. current

C. resistance

D. charge

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_6daOJpUm7spc


20. The process of electrolysis is used in _______

.

A. gold covering

B. metallurgy

C. electric printing

D. All the above

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_9XVZk5YrVmgn
https://dl.doubtnut.com/l/_Ybx8eJtvtpZG


21. Clouds get electrically charged when

A. the ultraviolet rays of sun falls on them.

B. air molecules rub against water

molecules.

C. cold currents of air rub against hot

currents of air.

D. Both (b) and (c)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Ybx8eJtvtpZG


22. During electrification by friction

A. protons are transferred from one body

to another body.

B. neutrons are transferred from one body

to another body.

C. None of the above

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_4TyJAEVieHO7


23. The electrical energy consumed by a 30 W

bulb in 5 minutes is _________ .

A. 9000 kJ

B. 9 Kj

C. 9000 MJ

D. 9 MJ

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_4TyJAEVieHO7
https://dl.doubtnut.com/l/_x6asizMOPKgk


24. SI unit of electric charge is :

A. ampere

B. volt

C. joule

D. coulomb

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_q2fL3Y0KLXVi


25. The S.I. unit of surface charge density is

________ .

A. C 

B. A 

C. A 

D. C 

Answer: D

Watch Video Solution

cm − 2

m − 2

cm − 2

m − 2

https://dl.doubtnut.com/l/_mHyGlrVT5K94
https://dl.doubtnut.com/l/_DuHZQvPmgSo1


26. If 2 A of current flows through a conductor,

the charge that flows in one minute is ________

C.

A. 12

B. 120

C. 60

D. 16

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_DuHZQvPmgSo1
https://dl.doubtnut.com/l/_5VQIHr20aKJw


27. When no charge is supplied to or removed

from a neutral body, then the amount of _____.

A. positive charge = negative charge

present in it

B. positive charge  negative charge

present in it

C. positive charge  negative charge

present in it

D. no charge is present in the body initially.

>

<

https://dl.doubtnut.com/l/_5VQIHr20aKJw


Answer: A

Watch Video Solution

28. Two wires of same material and length

have the radii of their cross sections as r and

2r, respectively. The ratio of their resistances

A. 

B. 

C. 

D. 

2: 1

4: 1

1: 4

3: 2

https://dl.doubtnut.com/l/_5VQIHr20aKJw
https://dl.doubtnut.com/l/_BA0v73fQ8yzq


Answer: B

Watch Video Solution

29. Which among the following has carbon as

the positive electrode?

A. Lechanche

B. Bichromate cell

C. Dry cell

D. All of the above

https://dl.doubtnut.com/l/_BA0v73fQ8yzq
https://dl.doubtnut.com/l/_EEMHKNenzCtY


Answer: D

Watch Video Solution

30. The charge supplied to a good conductor

always resides

A. at the supplied position itself.

B. on its outer surface.

C. inside the body.

D. All the above.

https://dl.doubtnut.com/l/_EEMHKNenzCtY
https://dl.doubtnut.com/l/_r1oL3CjeWThT


Answer: B

Watch Video Solution

31. The process suitable for charging a glass

rod is

A. conduction.

B. induction.

C. rubbing against a suitable substance.

D. All of the above

https://dl.doubtnut.com/l/_r1oL3CjeWThT
https://dl.doubtnut.com/l/_YM6QYL56ZM03


Answer: C

Watch Video Solution

32. The bluish white streak of light seen during

lightning is due to

A. a change of colour of the clouds, as

charge passes between the clouds.

B. burning of clouds producing an intense

white light.

https://dl.doubtnut.com/l/_YM6QYL56ZM03
https://dl.doubtnut.com/l/_rcnIatJS76ME


C. air becoming white hot as charge passes

between the clouds.

D. None of the above

Answer: C

Watch Video Solution

33. During lightning, thunder is produced due

to

https://dl.doubtnut.com/l/_rcnIatJS76ME
https://dl.doubtnut.com/l/_nbj7rzdOlIN3


A. a sudden expansion of air due to intense

heat.

B. a collision among clouds.

C. a sudden expansion of clouds due to

intense heat.

D. None of the above

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_nbj7rzdOlIN3


34. In which of the following cells, carbon is

not used as positive electrode ?

A. Leclanche cell

B. Lead-acid storage battery.

C. Dry cell

D. None of the above

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_1Vbco711yDpF
https://dl.doubtnut.com/l/_5n6UjekueNFe


35. Which is false about electrolysis ?

A. Most commonly occurring chemical

reaction in electrolysis is the 'chemical

decomposition reaction'.

B. When an iron rod is to be electroplated

with chromium, chromium electrode is

used as anode and iron rod is used as

cathode.

C. During electrolysis of water, 

accumulates at cathode and 

H2

O2

https://dl.doubtnut.com/l/_5n6UjekueNFe


accumulates at anode.

D. When electrolysis is used in

metallurgical applications, the

concentration of electrolyte changes.

Answer: D

Watch Video Solution

36. In a circuit, a battery can be represented by

A. 

https://dl.doubtnut.com/l/_5n6UjekueNFe
https://dl.doubtnut.com/l/_Y9ZNw9SvZYq8


B. 

C. 

D. 

Answer: C

Watch Video Solution

37. An electric current of 6 A flows through a

circuit for 10 minutes. Write the following

steps in sequential order to find the electrons

that would pass through the circuit in 10

https://dl.doubtnut.com/l/_Y9ZNw9SvZYq8
https://dl.doubtnut.com/l/_d76IhFuZfcl5


minutes. 

Note the given data about current (i) and time

(t). 

The number of electrons (n) flowing through

the circuit can be found using, Q = ne (2) 

(c) Find the charge (Q) that flows through the

circuit using , Q = it (1) 

(d) Equate (1) and (2), to find n.

A. a d b c

B. a b c d

C. b c a d

https://dl.doubtnut.com/l/_d76IhFuZfcl5


D. a c b d

Answer: D

Watch Video Solution

38. Two bulbs each of 60 W and 80 W power

are used for (1/4)th a day and (1/2) a day,

respectively. Write the following steps in a

sequential order to find the total number of

units consumed by them when they are used

for 30 days. 

https://dl.doubtnut.com/l/_d76IhFuZfcl5
https://dl.doubtnut.com/l/_yWd3Hdo47JGy


(a) Now, multiply E with 30, to get the energy

consumed by them in 30 days. 

(b) Find the electric energy consumed by each

bulb in a day using  and .

(c) Note down the powers of the bulbs and the

time for which they are used per day as 

and ,  , respectively. 

(d) Convert the time into hours. 

(e) Find the total energy (E) consumed by

them in one day, i.e., . 


(f) Write the energy in terms of units, i.e.,

commercial unit of electric energy.

E1 = P1t1 E2 = P2t2

P1, P2

t1 t2

E = E1 + E2

https://dl.doubtnut.com/l/_yWd3Hdo47JGy


A. c d b e a f

B. c d e a b f

C. c d a d e f

D. c e a b d f

Answer: A

Watch Video Solution

39. Assertion (A) : All the bulbs connected in

parallel glow brightly. 

Reason (R) : All the bulbs are connected

https://dl.doubtnut.com/l/_yWd3Hdo47JGy
https://dl.doubtnut.com/l/_iV9Nj7Wtd1t7


directly to a battery and derive the required

electrcial energy.

A. (A) and (R) are correct and (R) is correct

explanation for (A) .

B. (A) and (R) are correct but (R) is not the

correct explanation for (A).

C. (A) is correct but (R) is not correct.

D. Both (A) and (R) are not correct.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_iV9Nj7Wtd1t7


40. Assertion (A): A 200 W bulb consumes 2

units of electrical energy when it is used for 10

hours. 

Reason (R): 1 unit of electrical energy = 1000 k

Wh .

A. (A) and (R) are correct and (R) is correct

explanation for (A).

B. (A) and (R) are correct but (R) is not the

correct explanation for (A).

https://dl.doubtnut.com/l/_iV9Nj7Wtd1t7
https://dl.doubtnut.com/l/_TTux6o4y8fTc


C. (A) is correct but (R) is not correct.

D. Both (A) and (R) are not correct.

Answer: C

Watch Video Solution

41. Choose the correct statement about the

given circuit: Three identical bulbs are

https://dl.doubtnut.com/l/_TTux6o4y8fTc
https://dl.doubtnut.com/l/_1D71z54Y92Ab


connected as shown in the figure. 

A. Bulbs A and B are in parallel with bulb

'C'.

B. The potential (e.m.f) in the circuit is 60 V.

C. When switch 'S' is turned on all bulbs

glow with the same brightness.

https://dl.doubtnut.com/l/_1D71z54Y92Ab


D. Both (a) and (b).

Answer: D

Watch Video Solution

42. When a positively charged and another

negtively charged bodies with equal

magnitude of charge are brought

simultaneously in contact with the cap of a

positively charged electroscope, then the

strips

https://dl.doubtnut.com/l/_1D71z54Y92Ab
https://dl.doubtnut.com/l/_UmI7i4UEOOGA


A. move apart.

B. come closer.

C. remain uneffected.

D. Cannot be determined.

Answer: B

Watch Video Solution

43. A current carrying metallic comb is placed

close to small iron filings, then the

https://dl.doubtnut.com/l/_UmI7i4UEOOGA
https://dl.doubtnut.com/l/_MwaFkACW94lz


A. iron filings will fly away from the comb,

when switch is turned off.

B. iron filings align in the direction of the

magnetic field produced around the

metallic comb.

C. iron filings will be attracted by the comb.

D. Both (b) and (c).

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_MwaFkACW94lz
https://dl.doubtnut.com/l/_FECaFfFNMw1P


44. Choose the correct statement: 

When the same current(i) flows through tow

circuits as shown in the figures, then (assume

that all bulbs are identical) 

(A) bulbs in first combination glow with more

brightness. 

(B) bulbs in second combination glow with

more brightness. 

(C) bulbs in both the combination glow with

https://dl.doubtnut.com/l/_FECaFfFNMw1P


equal brightness. 

A. Only (A) is true

B. Only (B) is true

C. Only (C) is true

D. Cannot be determined.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_FECaFfFNMw1P


45. A magnet is brought close to a current

carrying con-ductor as shown in figure, then 

A. it will be repelled by the conductor.

B. it will be attracted by the conductor.

C. it will not show any effect.

https://dl.doubtnut.com/l/_FECaFfFNMw1P
https://dl.doubtnut.com/l/_0z44YPwQ3Jfx


Level 2

D. it will be just deflected.

Answer: D

Watch Video Solution

1. The length (16 cm) and area of cross section

 of a copper wire are increased by 25%

each. If the resistance of original wire is ,

find the new resistance.

(4cm2)

8Ω

https://dl.doubtnut.com/l/_0z44YPwQ3Jfx
https://dl.doubtnut.com/l/_xOBmiqZfzxq5


Watch Video Solution

2. A charged thermocol ball is suspended by

means of a nylon thread. When a neutral body

is brought nearer to it the thermocol ball is

first attracted by it and then flies away from it.

Explain by giving the reason.

Watch Video Solution

3. A 100 W bulb offers less resistance to

electric current than a 25 W bulb' - justify the

https://dl.doubtnut.com/l/_xOBmiqZfzxq5
https://dl.doubtnut.com/l/_jTPlqqJUCuxX
https://dl.doubtnut.com/l/_aBUYYtR6YbMk


statement.

Watch Video Solution

4. Give two reasons why different electrical

appliances in a domestic circuit are connected

in parallel.

Watch Video Solution

5. When we mention the charge of body we

indicate only the deficit or excess of electrons

https://dl.doubtnut.com/l/_aBUYYtR6YbMk
https://dl.doubtnut.com/l/_nNuMxkdUqOq7
https://dl.doubtnut.com/l/_gPCppOSVTnDr


in it but not protons. Why?

Watch Video Solution

6. Gasoline (explosive) transport trucks

generally carry long chains of metal hanging

down and touching the ground. Why?

Watch Video Solution

7. In an electric circuit, explain why a fuse is

always connected in series.

https://dl.doubtnut.com/l/_gPCppOSVTnDr
https://dl.doubtnut.com/l/_GNCtMYDsWSsg
https://dl.doubtnut.com/l/_AzGIOOstX12F


Watch Video Solution

8. When a glass rod is rubbed with resin, a

mass of  is transferred from

glass rod to resin. Find the amount charge

acquired by the glass rod. What is the nature

of the charge? (Charge of electron

, Mass of electron 

)

Watch Video Solution

27.3 × 10− 14g

= 1.6 × 10− 19C

= 9.1 × 10− 31kg

https://dl.doubtnut.com/l/_AzGIOOstX12F
https://dl.doubtnut.com/l/_MvFNpugxG1bY
https://dl.doubtnut.com/l/_8hXyiX1fCqJ8


9. Two copper wires have equal length but the

thickness of one is twice that of the other. If

the resistance of the thin wire is , find the

resistance of the thick wire.

Watch Video Solution

10Ω

10. A body 'P' contains 50 electrons and 45

protons and a body 'Q' contains 72 electrons

and 77 protons after electrification by friction

between the bodies. Find the number of

electrons and protons in 'P' and 'Q' before

https://dl.doubtnut.com/l/_8hXyiX1fCqJ8
https://dl.doubtnut.com/l/_lCJWXg0uBJU0


electrification. Also find the number of

electrons transferred between them.

Watch Video Solution

11. A fluorescent lamp of 20 W and an

incandescent bulb of 150 W are used for 5

hours per day in the month of February 2008.

If the cost of one unit of electrical energy is Rs.

1.5, which of the two is more economical to

use and by how much ?

Watch Video Solution

https://dl.doubtnut.com/l/_lCJWXg0uBJU0
https://dl.doubtnut.com/l/_gD7xy9YRZvHl


12. How much money can be saved per month

by using a compact fluorescent lamp of 15 W

in place of an incandescent bulb of 100 W if

they are used 8 hours per day for 30 days?

(Take the cost of one unit of electrical energy

as Rs. 2)

Watch Video Solution

13. What is the difference between the current

in the external circuit and inside an electric

https://dl.doubtnut.com/l/_gD7xy9YRZvHl
https://dl.doubtnut.com/l/_FX8TrMVMY0I4
https://dl.doubtnut.com/l/_8avtL9wAZUKo


cell ?

Watch Video Solution

14. During the electrolysis process 4 A electric

current flows through a copper sulphate

solution for 5 minutes. Determine the number

of copper atoms deposited at the cathode.

Watch Video Solution

https://dl.doubtnut.com/l/_8avtL9wAZUKo
https://dl.doubtnut.com/l/_kmgOQkKSIAnX


15. What are the differences between the flow

of electric current through metal conductors

and electrolytes?

Watch Video Solution

16. If  of mass is transferred

when fur is rubbed with silk, find the number

of electrons lost by fur? (mass of electron

 kg ).

Watch Video Solution

36.4 × 10− 15g

= 9.1 × 10− 31

https://dl.doubtnut.com/l/_xXZ0S8R9s0DD
https://dl.doubtnut.com/l/_4G2odghi9fWn


17. The electrical energy consumed by an

electric heater in a duration of 3 h is 0.6 K W h.

What is the power consumed by the heater?

Watch Video Solution

18. Two spheres of equal charge densities have

charges in the ratio 1 : 4 on their surfaces

Then the ratio of their volumes

Watch Video Solution

https://dl.doubtnut.com/l/_4G2odghi9fWn
https://dl.doubtnut.com/l/_KjyN10lJy1Az
https://dl.doubtnut.com/l/_9Hhce3RjEC8n


19. Two bulbs P and Q are connected in series

to a battery. If the resistance offered by the

bulb P is more than that of bulb Q and 6 A of

current is passed through the P, then what is

the current through Q ?

Watch Video Solution

20. Number of excess electrons present on a

conducting body A is . When it is

brought in contact with another identical

6.25 × 1018

https://dl.doubtnut.com/l/_ZMLOb3owlu75
https://dl.doubtnut.com/l/_SWK1UmhJNdEm


Level 3

conducting body of charge - 5 coulomb, find

the charge present on each body.

Watch Video Solution

1. What is the use of glass bulb in an electric

bulb? Can we use an electric bulb without the

glass bulb in space?

Watch Video Solution

https://dl.doubtnut.com/l/_SWK1UmhJNdEm
https://dl.doubtnut.com/l/_MWx8GtU9DXIC
https://dl.doubtnut.com/l/_1LdBGJgrRXMG


2. Can a charged body 'A' having a very small

charge on it, be used to charge an uncharged

body 'B' , such that the charge acquired by 'B'

is many times more than that on 'A'? If so,

how? Explain.

Watch Video Solution

3. A copper wire of mass 20 g carries a current

of 6.023 A. What fraction of the total number

of free electrons present in copper wire flows

through the cross-section of the copper wire

https://dl.doubtnut.com/l/_1LdBGJgrRXMG
https://dl.doubtnut.com/l/_B1k2noTZpcEM


in 2 s ? 

(gram atomic weight of copper = 63.5 g)

Watch Video Solution

4. A, B and C are three indentical metallic

spheres having positive, negative and positive

charges, respectively. The deficiency or excess

of electrons present in A, B and C are 10, 20

and 31, respectively. Initially the spheres A and

B are brought in contact and then B and C are

brought together. Determine the magnitude

https://dl.doubtnut.com/l/_B1k2noTZpcEM
https://dl.doubtnut.com/l/_Le3ZUFi6WzdO


and nature of charge present on the bodies

after bringing them in contact. (Take charge of

electorn as  ).

Watch Video Solution

1.6 × 10− 19C

5. The tyres of air craft are made of special

rubber which make them slightly conducting.

Explain the reasons for using special rubber.

Watch Video Solution

https://dl.doubtnut.com/l/_Le3ZUFi6WzdO
https://dl.doubtnut.com/l/_pc3wjIapQrak


6. A is a conducting rod connected to a cell as

shown in the diagram. 

 


If 5 A of current passes through the circuit for

5 s, find the amount charge accumulated on 'A'.

Watch Video Solution

7. In an atom, electrons revolve around the

nucleus in circular orbits. Can this be treated

https://dl.doubtnut.com/l/_tXop0vnNk12w
https://dl.doubtnut.com/l/_ck7xIDL8UPlu


as electric current? 

If an electron revolves around the nucleus

2000 times in one second, what is the

equivalent current? Given charge of the

electrons as .

Watch Video Solution

1.6 × 10− 19C

8. Bharat takes five identical bulbs

 and  and connects them to

a cell as shown in the figure. He compares 

(i) The current passing through the different

B1, B2, B3, B4 B5

https://dl.doubtnut.com/l/_ck7xIDL8UPlu
https://dl.doubtnut.com/l/_QGay5vxDM8b3


bulbs and 

(ii) the potential difference across different

bulbs when the circuit is closed. What does he

conclude? 

Watch Video Solution

9. The following table provides the list of

different appliances used by two families A

https://dl.doubtnut.com/l/_QGay5vxDM8b3
https://dl.doubtnut.com/l/_9jU4eAqp5Ifx


and B in April 2010. If the charge per unit is Rs.

4/-, calculate their monthly bill for April 2010. 

Watch Video Solution

10. Seeta says that a compact fluorescent lamp

uses less electrical energy compared to that of

an incandescent bulb. But Geeta, her friend,

does not agree with this. Seeta proves it by

calculating the money that can be saved per

https://dl.doubtnut.com/l/_9jU4eAqp5Ifx
https://dl.doubtnut.com/l/_DaNnowTZj7EG


Test Your Concepts Very Short Answer Type

Questions

month by using a compact fluorescent lamp of

15 W in place of an incandescent bulb of 100 W

if they are used 8 hours per day for 30 days.

How did she prove this? (The cost of one unit

of electrical energy is Rs. 2)

Watch Video Solution

https://dl.doubtnut.com/l/_DaNnowTZj7EG


1. What is the charge of an electron ? How

many electrons make a coulomb of charge ?

Watch Video Solution

2. Define conventional and electronic current.

Watch Video Solution

3. What is the function of powdered carbon

present in the electrolyte of a dry cell ?

https://dl.doubtnut.com/l/_nsqL5oPPccGq
https://dl.doubtnut.com/l/_do0ZEkpZ8iMR
https://dl.doubtnut.com/l/_MLBK8eyQvgnw


Watch Video Solution

4. A few drops of sulphuric acid are added to

water before electrolysis. Why ?

Watch Video Solution

5. What are the circuit symbols for a plug key

and a tap key ?

Watch Video Solution

https://dl.doubtnut.com/l/_MLBK8eyQvgnw
https://dl.doubtnut.com/l/_EXYrJ2xjfm3w
https://dl.doubtnut.com/l/_4xVWqshgcDbj
https://dl.doubtnut.com/l/_IUfCyhesQU5G


6. What is the use of magnesium oxide used in

an immersion heater ?

Watch Video Solution

7. The process due to which an uncharged

insulated metallic conductor gets electrically

charged when held near a charged body is

called ______.

Watch Video Solution

https://dl.doubtnut.com/l/_IUfCyhesQU5G
https://dl.doubtnut.com/l/_S9PfeyF10cLH
https://dl.doubtnut.com/l/_5jnh3OeNqH2Z


8. What is an electric cell ? What is a primary

and a secondary cell ?

Watch Video Solution

9. What is electricity?

Watch Video Solution

10. A body gains  electrons, by

rubbing, it with another body. Find the charge

on the body.

25 × 1018

https://dl.doubtnut.com/l/_5jnh3OeNqH2Z
https://dl.doubtnut.com/l/_CwFKNDHJEiC3
https://dl.doubtnut.com/l/_rq4QX0stH5t9


Watch Video Solution

11. What is electroplating ?

Watch Video Solution

12. In a dry cell, the cylindrical container made

of zinc acts as a ________ terminal of the cell.

Watch Video Solution

https://dl.doubtnut.com/l/_rq4QX0stH5t9
https://dl.doubtnut.com/l/_lZ4z7wQVEqJp
https://dl.doubtnut.com/l/_2fYJgOlGYDgS


13. What is meant by charging a secondary cell

?

Watch Video Solution

14. How many types of the charges are there ?

State the unit of charge ?

Watch Video Solution

https://dl.doubtnut.com/l/_ziZwjlplsXWV
https://dl.doubtnut.com/l/_18hxKuQSeQp1


15. A body contains 3 C of positive charge.

Does this refer to the total number of protons

or positively charged particles present in the

body ?

Watch Video Solution

16. The commercial unit of electrical energy is

________

Watch Video Solution

https://dl.doubtnut.com/l/_fxPZzYySRuYW
https://dl.doubtnut.com/l/_NDqsARrlCH6l
https://dl.doubtnut.com/l/_Qr9eh1vgshiU


17. State SI and practical units of electrical

energy .

Watch Video Solution

18. What is meant by charging a body ?

Watch Video Solution

19. If two charged bodies attract each other,

what could the nature of charges present on

https://dl.doubtnut.com/l/_Qr9eh1vgshiU
https://dl.doubtnut.com/l/_XaUdzOBCyATL
https://dl.doubtnut.com/l/_3a1IiTZ2zoDD


them be?

Watch Video Solution

20. What is electrical resistance ?

Watch Video Solution

21. What is an electrolyte?

Watch Video Solution

https://dl.doubtnut.com/l/_3a1IiTZ2zoDD
https://dl.doubtnut.com/l/_ISmdWu1pImlG
https://dl.doubtnut.com/l/_fhXBhgE6lnfa
https://dl.doubtnut.com/l/_sEzbYMbmWMip


22. What is an electroscope?

Watch Video Solution

23. What do you mean by electric potential

difference ? How is it measured ? Define its 

unit.

Watch Video Solution

SI

24. What is electrolysis ?

Watch Video Solution

https://dl.doubtnut.com/l/_sEzbYMbmWMip
https://dl.doubtnut.com/l/_ntk97q7H3K2S
https://dl.doubtnut.com/l/_9Z717SV5twvh


25. What is an electrical conductor ? Give some

examples.

Watch Video Solution

26. What is heating effect of electric current?

What is its origin?

Watch Video Solution

https://dl.doubtnut.com/l/_9Z717SV5twvh
https://dl.doubtnut.com/l/_iSf5Pa5wMnzc
https://dl.doubtnut.com/l/_U3Gh2kf5lc3L


Test Your Concepts Short Answer Type Questions

27. Define electric power and give its unit.

Watch Video Solution

28. Define electric current. What is the unit of

electric current? Define it?

Watch Video Solution

https://dl.doubtnut.com/l/_dwxJO8czkGrc
https://dl.doubtnut.com/l/_Hkx2M7uRLSxk


1. Show that 1 kWh is equal to 3.6 MJ.

Watch Video Solution

2. What is a button cell ?

Watch Video Solution

3. What is meant by charging a body ?

Describe charging by conduction and charging

by induction.

https://dl.doubtnut.com/l/_7YeCsAJ9BnxM
https://dl.doubtnut.com/l/_mvAgfuR58PD3
https://dl.doubtnut.com/l/_TpmlPw9xrO1J


Watch Video Solution

4. Differentiate between primary and

secondary cells.

Watch Video Solution

5. Explain the cause of electric current in a

conductor.

Watch Video Solution

https://dl.doubtnut.com/l/_TpmlPw9xrO1J
https://dl.doubtnut.com/l/_LfPTkblFfxrV
https://dl.doubtnut.com/l/_b69NkKAdJDFt
https://dl.doubtnut.com/l/_7QMfRtw2zQEf


6. Explain electric circuit and draw a simple

electric circuit.

Watch Video Solution

7. A person takes out a woolen cap from his

head and observes the hair on his head rising

up. Explain the reason for this?

Watch Video Solution

https://dl.doubtnut.com/l/_7QMfRtw2zQEf
https://dl.doubtnut.com/l/_nGQL4TVX9Wxa


8. What is lightning ? Explain the

phenomenon.

Watch Video Solution

9. Explain the applications of electrolysis.

Watch Video Solution

10. Why do we use a thin and long tungsten

wire as a filament in bulb ?

https://dl.doubtnut.com/l/_uDUzQAid8Yyu
https://dl.doubtnut.com/l/_1J4BDh7By2mx
https://dl.doubtnut.com/l/_sf0KCzwoDT8r


Test Your Concepts Essay Type Questions

Watch Video Solution

11. Explain the working of lightning rod.

Watch Video Solution

1. Explain the construction and working of a

gold leaf electroscope.

Watch Video Solution

https://dl.doubtnut.com/l/_sf0KCzwoDT8r
https://dl.doubtnut.com/l/_OmUQNt7Xu7He
https://dl.doubtnut.com/l/_asBWZWaODvDQ


2. Explain the construction and working of a

dry cell.

Watch Video Solution

3. Explain atmospheric electricity. How did

Benjamin Franklin prove that lighting strikes

dues to atmospheric electricity?

Watch Video Solution

https://dl.doubtnut.com/l/_asBWZWaODvDQ
https://dl.doubtnut.com/l/_0dbrDg1JqhvX
https://dl.doubtnut.com/l/_m3A3Z34pcu5l
https://dl.doubtnut.com/l/_3XTYf0J6dpXX


Concept Application Level 1 State Whether The

Following Statements Are True Or False

4. Explain the electrolysis of water

Watch Video Solution

5. Describe the construction and working of a

Voltaic cell briefly.

Watch Video Solution

https://dl.doubtnut.com/l/_3XTYf0J6dpXX
https://dl.doubtnut.com/l/_OSBl5lXDZ2QU


1. In a neutral body, the amount of positive

charge is equal to the amount of negative

charge.

Watch Video Solution

2. The direction of conventional current is the

same as the direction of the electronic

current.

A. True

B. False

https://dl.doubtnut.com/l/_rvQiH6FbcRMC
https://dl.doubtnut.com/l/_xgkqgOqyGk69


C. 

D. 

Answer:

Watch Video Solution

3. To protect buildings from lightning, a good

conductor of electricity like a copper rod, is

used.

Watch Video Solution

https://dl.doubtnut.com/l/_xgkqgOqyGk69
https://dl.doubtnut.com/l/_KDqQHUXw23SN


4. Conventionally, positively-charged bodies

are considered to be at lower potential.

Watch Video Solution

5. When a conductor is connected to a source

of current, the number of electrons entering

at one end of the conductor is equal to the

number of electrons leaving the conductor

from the other end, per second

Watch Video Solution

https://dl.doubtnut.com/l/_DYSzV2ZK9fN6
https://dl.doubtnut.com/l/_VHgq31kFJ7wz


6. An uncharged gold leaf electroscope can

detect the nature of charge present on the

charged body.

Watch Video Solution

7. When bulbs are connected in series, same

current flows through them.

Watch Video Solution

https://dl.doubtnut.com/l/_VHgq31kFJ7wz
https://dl.doubtnut.com/l/_i6pHC1xQfjez
https://dl.doubtnut.com/l/_0zAbErMJl7Ia


Concept Application Level 1 Fill In The Blanks

1. The types of cells in which it is possible to

restore the chemicals are called ___________ .

Watch Video Solution

2. Why is nichrome used as a heating element

?

Watch Video Solution

https://dl.doubtnut.com/l/_HrAMU0jGNYmz
https://dl.doubtnut.com/l/_rsBwfYavcVdj
https://dl.doubtnut.com/l/_enoFXRcleBe5


3. Glass does not allow _______________ to flow

through it.

Watch Video Solution

4. Inside a cell, the conventional current flows

from the ________terminal to the ___________

terminal.

Watch Video Solution

https://dl.doubtnut.com/l/_enoFXRcleBe5
https://dl.doubtnut.com/l/_x3tytRloQRPi


Concept Application Level 1

5. An electroscope is used to find the _______

present on a body.

Watch Video Solution

6. The disadvantages of voltaic cells are

____________ and _____________

View Text Solution

https://dl.doubtnut.com/l/_06pHigcuwoqu
https://dl.doubtnut.com/l/_tr3zduYhGUOx
https://dl.doubtnut.com/l/_v3gYXyRKX493


1. Match the entries in Column A with the

appropriate entries in Column B . 

View Text Solution

https://dl.doubtnut.com/l/_v3gYXyRKX493


Concept Application Level 1 Select The Correct

Alternative

1. 1 kWh = __________ MJ.

A. 36

B. 

C. 

D. 360

Answer: C

Watch Video Solution

0.36

3.6

https://dl.doubtnut.com/l/_SOf6sIGjKTXp


2. A gold leaf electroscope is used for

A. detect the presence of charge on a body

B. know the nature of charge on a charged

body

C. find the amount of charge present on a

charged body

D. Both (a) and (b)

Answer: D

https://dl.doubtnut.com/l/_SOf6sIGjKTXp
https://dl.doubtnut.com/l/_xlAdI1fv4RCI


Watch Video Solution

3. Which of the following can be reused after

charging?

A. Dry cell

B. Leclanche cell

C. Voltaic cell

D. Lead acid cell

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_xlAdI1fv4RCI
https://dl.doubtnut.com/l/_VieaSG2FOJBF


4. Volt is the unit of__________

A. emf

B. current

C. resistance

D. charge

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_VieaSG2FOJBF
https://dl.doubtnut.com/l/_KA2hsJgzpZ6w
https://dl.doubtnut.com/l/_JIPrRf9Ip7te


5. The process of electrolysis is used in _______ .

A. gold covering

B. metallurgy

C. electric printing

D. All the above

Answer: D

Watch Video Solution

6. Clouds get electrically charged when

https://dl.doubtnut.com/l/_JIPrRf9Ip7te
https://dl.doubtnut.com/l/_0DJhr3RaM899


A. the ultraviolet rays of sun falls on them.

B. air molecules rub against water

molecules

C. cold currents of air rub against hot

currents of air.

D. Both (b) and (d)

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_0DJhr3RaM899


7. During electrification by friction

A. protons are transferred from one body

to another body.

B. neutrons are transferred from one body

to another body.

C. electrons are transferred from one body

to another body.

D. None of the above

Answer: C

https://dl.doubtnut.com/l/_abVkv1xZTFjU


Watch Video Solution

8. The electrical energy consumed by a 30 W

bulb in 5 minutes is _________ .

A. 9000 kJ

B. 9 Kj

C. 9000 MJ

D. 9 MJ

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_abVkv1xZTFjU
https://dl.doubtnut.com/l/_P7qvH6lJ17Ou


9. The S.I. unit of electric charge is___________

A. ampere

B. volt

C. joule

D. coulomb

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_P7qvH6lJ17Ou
https://dl.doubtnut.com/l/_NN3k8o8jwnez
https://dl.doubtnut.com/l/_558nQmzsyk3S


10. The S.I. unit of surface charge density is

________ .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Ccm − 2

Am − 2

Acm − 2

Cm − 2

https://dl.doubtnut.com/l/_558nQmzsyk3S


11. If 2 A of current flows through a conductor,

the charge that flows in one minute is ________

C.

A. 12

B. 120

C. 60

D. 16

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_gvwRryf2Eh9Y


12. When no charge is supplied to or removed

from a neutral body, then the amount of _____.

A. positive charge = negative charge

present in it

B. positive charge  negative charge

present in it

C. positive charge  negative charge

present in it

D. no charge is present in the body initially.

>

<

https://dl.doubtnut.com/l/_3Iq46BEL9nC3


Answer: A

Watch Video Solution

13. Two wires of same material and length have

the radii of their cross sections as r and 2r,

respectively. The ratio of their resistances

A. 

B. 

C. 

D. 

2: 1

4: 1

1: 4

3: 2

https://dl.doubtnut.com/l/_3Iq46BEL9nC3
https://dl.doubtnut.com/l/_LYNQIOohTbic


Answer: B

Watch Video Solution

14. Which among the following has carbon as

the positive electrode?

A. Lechanche

B. Bichromate cell

C. Dry cell

D. All of the above

https://dl.doubtnut.com/l/_LYNQIOohTbic
https://dl.doubtnut.com/l/_E2TUGCtGjD5F


Answer: D

Watch Video Solution

15. The charge supplied to a good conductor

always resides

A. at the supplied position itself.

B. on its outer surface.

C. inside the body.

D. All the above.

https://dl.doubtnut.com/l/_E2TUGCtGjD5F
https://dl.doubtnut.com/l/_KxQoLKNJ27Ty


Answer: B

Watch Video Solution

16. The process suitable for charging a glass

rod is

A. conduction

B. induction

C. rubbing against a suitable substance.

D. All of the above

https://dl.doubtnut.com/l/_KxQoLKNJ27Ty
https://dl.doubtnut.com/l/_Dg16q1Jf2qn8


Answer: C

Watch Video Solution

17. The bluish white streak of light seen during

lightning is due to

A. a change of colour of the clouds, as

charge passes between the clouds.

B. burning of clouds producing an intense

white light.

https://dl.doubtnut.com/l/_Dg16q1Jf2qn8
https://dl.doubtnut.com/l/_KZmKWWkxEN3k


C. air becoming white hot as charge passes

between the clouds.

D. None of the above

Answer: C

Watch Video Solution

18. During lightning, thunder is produced due

to

https://dl.doubtnut.com/l/_KZmKWWkxEN3k
https://dl.doubtnut.com/l/_hSOO3xDEy9bE


A. a sudden expansion of air due to intense

heat.

B. a collision among clouds.

C. a sudden expansion of clouds due to

intense heat.

D. None of the above

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_hSOO3xDEy9bE


19. In which of the following cells, carbon is

not used as positive electrode ?

A. Leclanche cell

B. Lead-acid storage battery.

C. Dry cell

D. None of the above

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_PEumUPERSn1g
https://dl.doubtnut.com/l/_OpHPSSN9VBCx


20. Which is false about electrolysis ?

A. Most commonly occurring chemical

reaction in electrolysis is the chemical

decomposition reaction.

B. When an iron rod is to be electroplated

with chromium, chromium electrode is

used as anode and iron rod is used as

cathode.

C. During electrolysis of water, 

accumulates at cathode and 

H2

O2

https://dl.doubtnut.com/l/_OpHPSSN9VBCx


accumulates at anode.

D. When electrolysis is used in

metallurgical applications, the

concentration of electrolyte changes.

Answer: D

Watch Video Solution

21. In a circuit, a battery can be represented by

A. 

https://dl.doubtnut.com/l/_OpHPSSN9VBCx
https://dl.doubtnut.com/l/_6I8jRAz3CjvK


B. 

C. 

D. 

Answer: C

Watch Video Solution

22. An electric current of 6 A flows through a

circuit for 10 minutes. Write the following

steps in sequential order to find the electrons

https://dl.doubtnut.com/l/_6I8jRAz3CjvK
https://dl.doubtnut.com/l/_iCvLmh1Jb52k


that would pass through the circuit in 10

minutes. 

Note the given data about current (i) and time

(t). 

The number of electrons (n) flowing through

the circuit can be found using, Q = ne (2) 

(c) Find the charge (Q) that flows through the

circuit using , Q = it (1) 

(d) Equate (1) and (2), to find n.

A. ADBC

B. ABCD

C. BCAD

https://dl.doubtnut.com/l/_iCvLmh1Jb52k


D. ACBD

Answer: D

Watch Video Solution

23. Two bulbs each of 60 W and 80 W power

are used for (1/4)th a day and (1/2) a day,

respectively. Write the following steps in a

sequential order to find the total number of

units consumed by them when they are used

for 30 days. 

https://dl.doubtnut.com/l/_iCvLmh1Jb52k
https://dl.doubtnut.com/l/_Tfi3XrUWhSpe


(a) Now, multiply E with 30, to get the energy

consumed by them in 30 days. 

(b) Find the electric energy consumed by each

bulb in a day using  and .

(c) Note down the powers of the bulbs and the

time for which they are used per day as 

and ,  , respectively. 

(d) Convert the time into hours. 

(e) Find the total energy (E) consumed by

them in one day, i.e., . 


(f) Write the energy in terms of units, i.e.,

commercial unit of electric energy.

E1 = P1t1 E2 = P2t2

P1, P2

t1 t2

E = E1 + E2

https://dl.doubtnut.com/l/_Tfi3XrUWhSpe


A. C D B E A F

B. C D E A B F

C. C B A D E F

D. C E A B D F

Answer: A

Watch Video Solution

24. Assertion (A) : All the bulbs connected in

parallel glow brightly. 

Reason (R) : All the bulbs are connected

https://dl.doubtnut.com/l/_Tfi3XrUWhSpe
https://dl.doubtnut.com/l/_HBJJ2ZENVvEi


directly to a battery and derive the required

electrcial energy.

A. (A) and (R) are correct and (R) is correct

explanation for (A).

B. (A) and (R) are correct but (R) is not the

correct explanation for (A).

C. (A) is correct but (R) is not correct.

D. Both (A) and (R) are not correct.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_HBJJ2ZENVvEi


25. Assertion (A): A 200 W bulb consumes 2

units of electrical energy when it is used for 10

hours. 

Reason (R): 1 unit of electrical energy = 1000 k

Wh .

A. (A) and (R) are correct and (R) is correct

explanation for (A).

B. (A) and (R) are correct but (R) is not the

correct explanation for (A).

https://dl.doubtnut.com/l/_HBJJ2ZENVvEi
https://dl.doubtnut.com/l/_bP2KNqkSzMZ0


C. (A) is correct but (R) is not correct.

D. Both (A) and (R) are not correct.

Answer: C

Watch Video Solution

26. Choose the correct statement about the

given circuit: Three identical bulbs are

https://dl.doubtnut.com/l/_bP2KNqkSzMZ0
https://dl.doubtnut.com/l/_XXqYuuarDSAx


connected as shown in the figure. 

A. Bulbs A and B are in parallel with bulb 'C'

B. The potential (e.m.f) in the circuit is 60 V.

C. When switch 'S' is turned on all bulbs

glow with the same brightness.

D. Both (a) and (b)

https://dl.doubtnut.com/l/_XXqYuuarDSAx


Answer: D

Watch Video Solution

27. When a positively charged and another

negtively charged bodies with equal

magnitude of charge are brought

simultaneously in contact with the cap of a

positively charged electroscope, then the

strips

A. move apart

https://dl.doubtnut.com/l/_XXqYuuarDSAx
https://dl.doubtnut.com/l/_Ywp3d6DJm5xf


B. come closer

C. remain uneffected.

D. Cannot be determined.

Answer: B

Watch Video Solution

28. What happens when a current carrying

metallic comb is placed close to small iron

filings?

https://dl.doubtnut.com/l/_Ywp3d6DJm5xf
https://dl.doubtnut.com/l/_3N6A6cq5Pj7J


A. iron filings will fly away from the comb,

when switch is turned off.

B. iron filings align in the direction of the

magnetic field produced around the

metallic comb.

C. iron filings will be attracted by the comb.

D. Both (b) and (c).

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_3N6A6cq5Pj7J
https://dl.doubtnut.com/l/_h5iuy8cG0gdb


29. Choose the correct statement: 

When the same current(i) flows through tow

circuits as shown in the figures, then (assume

that all bulbs are identical) 

(A) bulbs in first combination glow with more

brightness. 

(B) bulbs in second combination glow with

more brightness. 

(C) bulbs in both the combination glow with

https://dl.doubtnut.com/l/_h5iuy8cG0gdb


equal brightness. 

A. Only (A) is true

B. Only (B) is true

C. Only (C) is true

D. Cannot be determined

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_h5iuy8cG0gdb


30. A magnet is brought close to a current

carrying con-ductor as shown in figure, then 

A. it will be repelled by the conductor.

B. it will be attracted by the conductor.

C. it will not show any effect.

https://dl.doubtnut.com/l/_h5iuy8cG0gdb
https://dl.doubtnut.com/l/_MOZvg2Hsgyzn


D. it will be just deflected.

Answer: D

Watch Video Solution

31. The length (16 cm) and area of cross

section  of a copper wire are increased

by 25% each. If the resistance of original wire

is , find the new resistance.

Watch Video Solution

(4cm2)

8Ω

https://dl.doubtnut.com/l/_MOZvg2Hsgyzn
https://dl.doubtnut.com/l/_Ekf3JcR0dueu


Concept Application Level 2

1. A charged thermocol ball is suspended by

means of a nylon thread. When a neutral body

is brought nearer to it the thermocol ball is

first attracted by it and then flies away from it.

Explain by giving the reason.

Watch Video Solution

2. A 100 W bulb offers less resistance to

electric current than a 25 W bulb' - justify the

https://dl.doubtnut.com/l/_2FJAAJEQ0GXS
https://dl.doubtnut.com/l/_7pYSnoGVZWyP


statement.

Watch Video Solution

3. Give two reasons why different electrical

appliances in a domestic circuit are connected

in parallel.

Watch Video Solution

4. When we mention the charge of body we

indicate only the deficit or excess of electrons

https://dl.doubtnut.com/l/_7pYSnoGVZWyP
https://dl.doubtnut.com/l/_CXtl1qjqTstR
https://dl.doubtnut.com/l/_Ri8N9OKt2FGB


in it but not protons. Why?

Watch Video Solution

5. Gasoline (explosive) transport trucks

generally carry long chains of metal hanging

down and touching the ground. Why?

Watch Video Solution

6. In an electric circuit, explain why a fuse is

always connected in series.

https://dl.doubtnut.com/l/_Ri8N9OKt2FGB
https://dl.doubtnut.com/l/_7QhvhTV304l8
https://dl.doubtnut.com/l/_rylYFNgUvtkK


Watch Video Solution

7. When a glass rod is rubbed with resin, a

mass of  is transferred from

glass rod to resin. Find the amount charge

acquired by the glass rod. What is the nature

of the charge? (Charge of electron

, Mass of electron 

)

Watch Video Solution

27.3 × 10− 14g

= 1.6 × 10− 19C

= 9.1 × 10− 31kg

https://dl.doubtnut.com/l/_rylYFNgUvtkK
https://dl.doubtnut.com/l/_5J2mu3npul1S
https://dl.doubtnut.com/l/_eb7KVVEpLWEm


8. Two copper wires have equal length but the

thickness of one is twice that of the other. If

the resistance of the thin wire is , find the

resistance of the thick wire.

Watch Video Solution

10Ω

9. A body 'P' contains 50 electrons and 45

protons and a body 'Q' contains 72 electrons

and 77 protons after electrification by friction

between the bodies. Find the number of

electrons and protons in 'P' and 'Q' before

https://dl.doubtnut.com/l/_eb7KVVEpLWEm
https://dl.doubtnut.com/l/_Z6mRzErC8S7a


electrification. Also find the number of

electrons transferred between them.

Watch Video Solution

10. A fluorescent lamp of 20 W and an

incandescent bulb of 150 W are used for 5

hours per day in the month of February 2008.

If the cost of one unit of electrical energy is Rs.

1.5, which of the two is more economical to

use and by how much ?

Watch Video Solution

https://dl.doubtnut.com/l/_Z6mRzErC8S7a
https://dl.doubtnut.com/l/_vEVNoaXBf2xP


11. How much money can be saved per month

by using a compact fluorescent lamp of 15 W

in place of an incandescent bulb of 100 W if

they are used 8 hours per day for 30 days?

(Take the cost of one unit of electrical energy

as Rs. 2)

Watch Video Solution

12. What is the difference between the current

in the external circuit and inside an electric

https://dl.doubtnut.com/l/_vEVNoaXBf2xP
https://dl.doubtnut.com/l/_yiGGCjRUJGAu
https://dl.doubtnut.com/l/_pEBhM7hGDslJ


cell ?

Watch Video Solution

13. During the electrolysis process 4 A electric

current flows through a copper sulphate

solution for 5 minutes. Determine the number

of copper atoms deposited at the cathode.

Watch Video Solution

https://dl.doubtnut.com/l/_pEBhM7hGDslJ
https://dl.doubtnut.com/l/_8INoxEVjTEMJ


14. What are the differences between the flow

of electric current through metal conductors

and electrolytes?

Watch Video Solution

15. If  of mass is transferred

when fur is rubbed with silk, find the number

of electrons lost by fur? (mass of electron

 kg ).

Watch Video Solution

36.4 × 10− 15g

= 9.1 × 10− 31

https://dl.doubtnut.com/l/_bMloUz6bCSop
https://dl.doubtnut.com/l/_RJfrAmZKAibk


16. The electrical energy consumed by an

electric heater in a duration of 3 h is 0.6 K W h.

What is the power consumed by the heater?

Watch Video Solution

17. Two spheres of equal charge densities have

charges in the ratio 1 : 4 on their surfaces

Then the ratio of their volumes

Watch Video Solution

https://dl.doubtnut.com/l/_RJfrAmZKAibk
https://dl.doubtnut.com/l/_7W7kKlEGu0lg
https://dl.doubtnut.com/l/_CuG2n5LqPRUr


18. Two bulbs P and Q are connected in series

to a battery. If the resistance offered by the

bulb P is more than that of bulb Q and 6 A of

current is passed through the P, then what is

the current through Q ?

Watch Video Solution

19. Number of excess electrons present on a

conducting body A is . When it is

brought in contact with another identical

6.25 × 1018

https://dl.doubtnut.com/l/_5bDaOlKZ49IV
https://dl.doubtnut.com/l/_nJmOFHdbzF6o


Concept Application Level 3

conducting body of charge - 5 coulomb, find

the charge present on each body.

Watch Video Solution

1. What is the use of glass bulb in an electric

bulb? Can we use an electric bulb without the

glass bulb in space?

Watch Video Solution

https://dl.doubtnut.com/l/_nJmOFHdbzF6o
https://dl.doubtnut.com/l/_iDh2XdABSiej
https://dl.doubtnut.com/l/_EGjZZPCjs0CK


2. Can a charged body 'A' having a very small

charge on it, be used to charge an uncharged

body 'B' , such that the charge acquired by 'B'

is many times more than that on 'A'? If so,

how? Explain.

Watch Video Solution

3. A copper wire of mass 20 g carries a current

of 6.023 A. What fraction of the total number

of free electrons present in copper wire flows

through the cross-section of the copper wire

https://dl.doubtnut.com/l/_EGjZZPCjs0CK
https://dl.doubtnut.com/l/_B2vvXm37TZpg


in 2 s ? 

(gram atomic weight of copper = 63.5 g)

Watch Video Solution

4. A, B and C are three indentical metallic

spheres having positive, negative and positive

charges, respectively. The deficiency or excess

of electrons present in A, B and C are 10, 20

and 31, respectively. Initially the spheres A and

B are brought in contact and then B and C are

brought together. Determine the magnitude

https://dl.doubtnut.com/l/_B2vvXm37TZpg
https://dl.doubtnut.com/l/_dPABehk7eUdU


and nature of charge present on the bodies

after bringing them in contact. (Take charge of

electorn as  ).

Watch Video Solution

1.6 × 10− 19C

5. The tyres of air craft are made of special

rubber which make them slightly conducting.

Explain the reasons for using special rubber.

Watch Video Solution

https://dl.doubtnut.com/l/_dPABehk7eUdU
https://dl.doubtnut.com/l/_dwVe1tybUPlI


6. A is a conducting rod connected to a cell as

shown in the diagram. 

 


If 5 A of current passes through the circuit for

5 s, find the amount charge accumulated on 'A'.

Watch Video Solution

7. In an atom, electrons revolve around the

nucleus in circular orbits. Can this be treated

https://dl.doubtnut.com/l/_1bEV5DHqSx7e
https://dl.doubtnut.com/l/_s63UUy1nQw0H


as electric current? 

If an electron revolves around the nucleus

2000 times in one second, what is the

equivalent current? Given charge of the

electrons as .

Watch Video Solution

1.6 × 10− 19C

8. Bharat takes five identical bulbs

 and  and connects them to

a cell as shown in the figure. He compares 

(i) The current passing through the different

B1, B2, B3, B4 B5

https://dl.doubtnut.com/l/_s63UUy1nQw0H
https://dl.doubtnut.com/l/_aqxT4zQHuTlS


bulbs and 

(ii) the potential difference across different

bulbs when the circuit is closed. What does he

conclude? 

Watch Video Solution

9. The following table provides the list of

different appliances used by two families A

https://dl.doubtnut.com/l/_aqxT4zQHuTlS
https://dl.doubtnut.com/l/_NZTRoaejqStI


and B in April 2010. If the charge per unit is Rs.

4/-, calculate their monthly bill for April 2010. 

Watch Video Solution

10. Seeta says that a compact fluorescent lamp

uses less electrical energy compared to that of

an incandescent bulb. But Geeta, her friend,

does not agree with this. Seeta proves it by

calculating the money that can be saved per

https://dl.doubtnut.com/l/_NZTRoaejqStI
https://dl.doubtnut.com/l/_tC411PBYq8VH


month by using a compact fluorescent lamp of

15 W in place of an incandescent bulb of 100 W

if they are used 8 hours per day for 30 days.

How did she prove this? (The cost of one unit

of electrical energy is Rs. 2)

Watch Video Solution

https://dl.doubtnut.com/l/_tC411PBYq8VH

